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TrigonometryExercise3 for No.3
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No3 = { Conditionl = {Cos( 0)= 5}, Condition2 = [ Csc(0) < 0], Quest = Csc( 6)}, , [

No4 = [ Conditionl = [Sin(0) < 0], Condition2 = [ Tan(0) =-3 ], Quest = Sec(0)],
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No5 = [A =0,B =§, Condition = {Cot(e) = g}, Quest =[Csc(0) — Sec(e)]}, [

ﬁ

No6 = [A :g, B =, Condition = [Tan(e) - 78} Ouest = [ Cse(0) — Cos(@)]} {

{ ") }
) (
3n » 1 . V)
N08=[A=—2 ,B=2m, Condztzon=[Cos(9)=g}, Quest=[Sm(9)+Tan(9)]}, ,{ v }
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3 -5
No7 = [A =m,B= 7719 Condition = {Csc(e) = ;}, Quest =[Tan(0) — Cos(e)]},

X [Page = 0003]



X Math@MUT XXXXXXXXXXXXXXXXXXXKXKXXKXXKXKXKXXXKXKXKXKXKXXKKXKXKXKKKKKXKXKXKXKX6300103-00003XX
TrigonometryExercise3 Answers for No.3
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Anséz{Csc(O) —Cos(0) =

Ans7:{Tan(9)—Cos(9)=%}, ,[
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Ans8=[Sin(6) + Tan(0) =—
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